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MODEL QUESTION PAPER 

 

CLASS - X 

MATHEMATICS  
dqy Á’uksa dh la[;k 
%  
Total No. of  Questions: 

30 
i`"Bksa dh dqy la[;k % 
Total No. of  Pages:   7 

le; % 3 ?kaVs 
Time : 3 Hours 

 iw.kkZad % 
Full Marks :  80 

   
 

 

lkekU; funZs’k% 
GENERAL INSTRUCTIONS : 

 
1- lHkh Á’u vfuok;Z gSaA  

All questions are compulsory 

2- bl Á’ui= esa 30 Á’u pkj [k.Mksa  A, B, C vkSj D esa foHkkftr gSaA [k.M A esa 

nl Á’u ÁR;sd 1 vad dk] [k.M B esa ik¡p Á’u ÁR;sd 2 vadks dk] [k.M C esa 

nl Á’u ÁR;sd 3 vadks dk rFkk [k.M D esa ik¡p Á’u ÁR;sd 6 vadksa dk gSA 

This question paper consists of 30 questions divided into four sections  A, B, C and D. 

Section A contains 10 questions of 1 marks each, section B contains five questions of 

2 marks each, section C contains 10 questions of 3 marks each and section D contains 

5 questions of 6 marks each. 

3. jpuk ds mÙkj esa dsoy vadu nhft,A 

Only sletchs are to be given in the answers of  construction. 

4. Á’uksa ds mÙkj] Á’uksa ds lkFk fn;s x, funsZ’k ds vkyksd esa gh fyf[k,A 

Answer of the question must be in the content of the instructions given therein. 

5. lHkh jQ dk;Z Á’u&lg&mÙkj iqfLrdk ds var esa fn, x, i`"Bksa ij gh 

dhft,] vU;= dgha ughaA 

Do all rough work on the last pages of the question. 

 [k.M & ^^A** 

 
 Á’u la[;k 1 ls 10 rd ÁR;sd 1 vad dk gSA 

Question number 1 to 10 carry one marks each. 
 

1-  vHkkT; xq.ku[k.M fof/k }kjk 26 vkSj 91 dk L.C.M Kkr dhft,A 

Find the L.C.M of 26 and 91 by the Prime factori-sation method. 
 

2-  fdlh cgqin p (x) ds fy,] y = p (x) dk xzkQ fups vkÑfr esa fn;k x;k gSA p(x)   
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dk 'kwU;kadksa dh la[;k fyf[k,A 

  The graph of y = ( x ) is given in figure below. Write the number of zero of   the 

polynomial p( x )  

   
 
 
 

 

3-  f}?kkr lehdj.k 2x
2
 – 5x + 3 = 0 dk fofoDrdj Kkr dhft,A 

Find the discriminant of the quadratic equation 2x
2
 – 5x + 3 = 0. 

 

4-  eku fudkfy, %  

 sin 30˚   
sin 60˚ 

 

Evaluate :     

sin 30˚   
sin 60˚ 

 

5-  A.P  -3,  -2,  -1,  0 ………… ds fy, ÁFke in rFkk lkoZvarj fyf[k,A 

Write the first term  and the common difference of the following  A.P.  

-3,  -2,  -1,  0 ………… 

 

6-  r  f=T;k okys v/kZo`Ùk dk {ks=Qy fyf[k,A 

Write the area of a semicircle of radius  r. 
 

7-  vkÑfr esa DE II BC gS rks AD Kkr dhft,A 
In figure DE II BC then find AD. 

 

 

 

 
 

8-  vkÑfr esa] TP vkSj TQ dsUnz O okys fdlh o`Ùk ij nks Li’kZ js[kk,¡ bl Ádkj gSa fd 
LPOQ = 110˚. LPTQ dk eku Kkr dhft,A 
 

In figure, TP and TQ are the two tangents to the circle with centre O so that                

LPOQ = 110˚. Find the value of LPTQ. 
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9-  vPNh Ádkj ls QsaVh xbZ 52 iÙkksa dh xÏh esa ls ,d iÙkk fudkyk tkrk gSA fudkys 
x, iÙks ds ,d bDdk gksus dh Ákf;drk Kkr dhft,A 
 

One card is drawn from a well-shuffled deck of 52 cards. Calculate the probability that 

the card will be an ace. 

 

10-  fuEu vkÑfr fdl Ádkj dk rksj.k gS\ 

What type of an ogive is the following figure? 

 

 

 

 

 

 

 

 

 

 

  [k.M “B”  
  Á’u la[;k 11 ls 15 rd ÁR;sd 2 vadksa dk gSA 

Question Number 11 to 15 carry Two marks each. 
 

11-  cgqin  t
2
 – 15 esa 'kqU;dksa dh la[;k fudkfy,A 

Find the zeros of the polynomial t
2
 – 15. 

 

12-  

;fn sin A = ¾] rks cos A dk eku fudkfy,A 

If  sin A = ¾] calculate the value of cos A. 

 
 
 
 

13-  fcUnqvksa A (-5, 7) rFkk B (-1, 3) ds chp dh nwjh Kkr dhft,A 

Find the distance of points A (-5, 7) and  B (-1, 3). 
 

14-  eku yhft,  D ABC ~   D   DEF gS] buds {ks=Qy Øe’k% 64cm
2
 vkSj 121 cm

2
 gSaA 

;fn    BC = 11.2 cm gk]s rks EF Kkr dhft,A 

Let D  ABC    ~    D   DEF and their areas be respectively 64cm
2
 and 121 cm

2
 - If  

BC = 11.2 cm, find EF . 

 

15-  ,d FkSys esa 3 yky vkSj 5 dkyh xsansa gSaA bl FkSys esa ls ,d xasn ;kn`PN;k fudkyh 
tkrh gSA bldh Ákf;drk D;k gS fd xsan ¼i½ yky gks\ ¼ii½ yky ugha gks\ 

 

  vFkok  
  jk/kk vius ty&tho dqaM ¼aquarium½ ds fy, ,d nqdku ls eNyh [kjhnrh gSA 

nqdkunkj ,d Vadh] ftlesa 5 uj vkSj 8 eknk eNfy;k¡ gSa] esa ls nks eNfy;k¡ 
;kn`PN;k mls nsus ds fy, fudkyrk gSA bldh Ákf;drk D;k gS fd fudkyh xbZ 
eNfy;ksa esa ls ¼i½ ,d uj gS ¼ii½ ,d eknk gS\ 

 

  A bag contains 3 red balls and 5 balls. A ball is drawn at random from the bag. What is 

the probability that the ball drawn is (i) red (ii) not red?  

  OR  
   

Radha buys fishes from a shop for her aquarium. The shopkeeper takes out two fishes at 

random from a tank containing 5 male fishes and 8 female fishes. What is the probability 
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that the fishes taken out are (i) a male fish (ii) a female fish? 

 

  [k.M ‘C’  
  Á’u la[;k 16 ls 25 rd ÁR;sd 3 vadksa dk gSA 

Question number 16 to 25 carry three marks each. 
 

16-  ;wfDyM foHkktu Áesf;dk dk Á;ksx dj 196 rFkk 38220 dk eålå Kkr dhft,A 
 

 

  vFkok  
  fl) dhft, fd √5 ,d vifjes; la[;k gSA  
  Use Uuclid’s algorithm to find the HCF of 196 and 38220.  
  OR  
  Prove that√5 is an irrational number.  

17-  K ds fdl eku ds fy, fuEu jSf[kd lehdj.kksa ds ;qXe dk dksbZ gy ugha gS\ 

                   3x+y = 1 

                  (2k – 1 ) x + (k – 1) y  =  2k + 1                                

 

  For which value of   K  will the following pair of linear equations have no solutions? 

                  3x+y = 1 

                  (2k – 1 ) x + (k – 1) y  =  2k + 1                                

 

18-  fuEufyf[kr jSf[kd lehdj.kksa dks xzkfQ; fof/k ls gy dhft,A 

                        2x + y – 6  =  0                                

                       4x + 2y – 4  = 0. 

 

  Solve the following linear equations graphically. 

                       2x + y – 6  =  0                                

                       4x + 2y – 4  = 0. 

 

19  fdlh vadxf.krh; Js.kh dk igyk in 5 rFkk vafre in 45 gS ,oa ;ksxQy 400 
gSA inksa dh la[;k rFkk lkoZ varj fudkfy,A 
 

The first term of an A.P. is 5, the last term is 45 and the sum is 400. Find the number of  

terms and the common difference. 

 

20-  fl) dhft,& 

1 + tan 
2
 A 

1 + cot 
2
 A 

= tan 
2
 A 

 

 

  Prove that- 

1 + tan 
2
 A 

1 + cot 
2
 A 

= tan 
2
 A 

 

 

21  ml fcanq ds funsZ’kkad Kkr dhft,] tks fcanqvksa  ¼- 1, 7½ vkSj ¼4, - 3½ dks feykus okys 
js[kk[k.M dks 2 % 3 ds vuqikr esa foHkkftr djrk gSA 
 

Find the coordinates of the point which divides the line segment joining the points            

(- 1,  7) and (4,  - 3) in the ration 2 : 3. 

 

22-  ml f=Hkqt dk {ks=Qy Kkr dhft, ftldk 'kh"kZ ¼-5, -1½ ¼3, -5½ rFkk ¼5, 2½ gSA 
Find the area of the triangle whose vertices are (-5, -1) (3, -5) and (5, 2). 
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23-  ,d f=Hkqt ABC cukb, ftlesa BC = 6 lseh, AB = 5 lseh vkSj LABC = 60˚ 
 gksA fQj 

,d f=Hkqt dh jpuk dhft, ftldh Hkqtk,¡ D ABC dh laxr Hkqtkvksa dh ¾ xquh 
gksA 
 

 

 

  vFkok  
  6 lseh f=T;k ds ,d or̀ [khafp,A dsUnz ls 10 lseh nwj fLFkr ,d fcanq ls o`Ùk ij 

Li’kZ js[kk ;qXe dh jpuk dhft, vkSj mudh yEckb;k¡ ekfi,A 
 

  Draw a  D ABC with side BC = 6cm, AB = 5cm and LABC = 60˚.
 
  Then Construct a 

triangle whose sides are ¾ of  the corresponding sides of the triangles ABC. 

 

   

OR 
 

  Draw a circle of radius 6 cm. From a point 10 cm away from its centre, construct the pair 

of tangents to the circle and measure their lengths. 

 

24-  fl) dhft, fd fdlh o`Ùk ds fdlh O;kl ds fljksa ij [khaph xbZ Li’kZ js[kk,¡ 
lekarj gksrh gSaA 
 

Prove that the tangents drawn at the ends of a diameter of a circle are parallel. 

 

25-  6 cm f=T;k okys ,d o`r ds f=T;[k.M dk {ks=Qy Kkr dhft,] ftldk dks.k 
60˚  

 gSA  
 

22 
[ p = 

7 dk Á;ksx dhft,] 
   
 

 

  vFkok  

 

 nh xbZ vkÑfr esa Nk;kafdr Hkkx dk {ks=Qy Kkr dhft,] ;fn ABCD  Hkqtk 14 
lseh dk ,d oxZ gS rFkk APD vkSj BPC  nks v)Zo`Ùk gSaA 

22 
[ p = 

7 dk Á;ksx dhft,] 

                                                        

 

                                A                                      B 

 

 

 

 

 

                               D                                        C 

 

 
 Find the area of a sector of a circle with radius 6 cm if angle of the sector is 60˚.  

   

22 
[Use p = 

7 ] 
 

 

  OR  

 

 Find the area of the shaded region in the given figure where ABCD is a square of side 14 

cm and APD and BPC are semicircle. 

22 
[Use p = 

7 ] 

                                                                      A                                        B 

 

 

 

 

                                                                       D                                       C 

 
 
 
 
 
 
 
 

 

        

        P 

 

        

        P 
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  [k.M ‘D’  

  Á’u la[;k 26 ls 30 rd ÁR;sd 6 vadksa dk gSA 
Question number 26 to 30 carry six marks each. 

 

26-  
1 1 lehdj.k 
x 

- 
x-2 

= 3 , x ≠ 0, 2 dks f}?kkr lehdj.k ds #i esa  

cnydj ewyksa dh ÁÑfr Kkr dhft,A ;fn ewyksa dk vfLrRo gks] rks mUgsa Kkr 
dhft,A        

 

  vFkok  
  D;k ,d ,slk vke dk cxhpk cukuk laHko gS ftldh yackbZ] pkSM+kbZ ls nqxquh gks 

vkSj mldk {ks=Qy 800 eh2 gks\ ;fn gk¡] rks mldh yEckbZ vkSj pkSM+kbZ Kkr 
dhft,A 

 

  1 1 
Write the equation 

x 
- 

x-2 
= 3 , x ≠ 0, 2 in the form of a quardratic  

equation and find the nature of the roots, if the real roots exist, find them.  

 

  OR  
  Is it possible to design a rectangular mango grove whose length is twice its breadth, and 

the area is 800 m
2
? If so, find its length and breadth. 

 

27-  Hkwfe ds ,d fcanq ls] tks ehukj ds ikn&fcanq ls 30 eh dh nwjh ij gS] ehukj ds 
f’k[kj dk mé;u dks.k 30˚ gSA ehukj dh m¡pkbZ Kkr dhft,A 

 

  vFkok  

 
 ,d ehukj ds ikn&fcanq ls ,d Hkou ds f’k[kj dk mé;u dks.k 30˚ gS vkSj Hkou 

ds ikn&fcanq ls ehukj dh mé;u dks.k 60˚ gSA ;fn ehukj 50 eh m¡ph gks] rks 
Hkou dh m¡pkbZ Kkr dhft,A 

 

  
 

The angle of elevation of the top of a building from the foot of the tower is 30˚ and  the 

angle of elevation of the top of the tower from the foot of the building is 60˚. If the 

tower is 50 m high, find the height of the building. 

 

  OR  
  The angle of elevation of the top of a tower from a point on the ground, which is 30 m 

away from the foot of the tower is 30˚. Find the height of the tower. 
 

28-  ;fn ,d js[kk fdlh f=Hkqt ABC dh Hkqtkvksa AB rFkk AC dks Øe’k% D rFkk E fcanqvksa 
ij dkVrh gS ,oa BC ds lekukarj gS] rks fl) dhft, fd %  

 
 

If a line intersects side AB and AC of a D ABC at D and E respectively and is parallel to 

BC, prove that  

 
 

AD AE 

DB 
= 

EC 

AD AE 

DB 
= 

EC 

 

29-  ikuh ihus okyk ,d fxykl 14 lseh m¡pkbZ okys ,d 'kadq ds fNéd ds vkdkj dk 
gSA nksuksa o`Ùkkdkj fljksa ds O;kl 4 lseh vkSj 2 lseh gSA bl Xykl dh /kkfjrk Kkr 
dhft,A 

22 
[ p = 

7 dk Á;ksx dhft,] 

 

A drinking glass is in the shape of a frustum of a cone of height 14 cm. The diameters of 
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its two circular ends are 4 cm and 2 cm. Find the capacity of the glass. 

22 
[Use p = 

7 ] 

 

 

   

 
30-  fuEufyf[kr vk¡dM+ksa ds ek/; vFkok cgqyd vFkok ek/;d Kkr dhft, %  

  
v{kjksa dh la[;k  1- 4 4 -7 7 -10 10 -13 13 -16 16 -19 

dqy ukeksa dh la[;k               6 30 40 16 4 4  

 
 
 

  Find out mean or mode or median from the following data -  
  No. of letters 1- 4 4 -7 7 -10 10 -13 13 -16 16 -19 

No. of surnames 6 30 40 16 4 4  
 
 

 


